
Iclicker question
You are tasked with measuring the height of a tree and you get the 
measurement as 170 ft tall. You later realized that your measurement tools are 
somewhat faulty, up to a relative error of 10%. What is the minimum height of 
the tree (numbers rounded to 3 sig figs) ?

A) 153 ft

B) 155 ft

C) 187 ft

D) 189 ft
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Iclicker question

a) 90
b) 30
c) 20
d) 10
e) 5
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Iclicker question
Suppose you have ! = # $ %&' calculated. What is the cost of solving

min' + − ! ' -- ?

A) 0(2)
B) 0( 2-)
C) 0(52)
D) 0 5
E) 0( 5-)
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Iclicker question
Mark the incorrect statement about the Bisection Method:

A) Has linear convergence
B) Requires two function evaluations for each iteration, i.e. !(#) and !(%)
C) The function must be continuous with a root in the interval [#, %]
D) Given the initial internal [#, %], the length of the interval after )

iterations is *+,-.

True /
False

True

True(
only at first iteration we have two function evaluations

,

then only one function evaluation per iteration

is needed . CONTINUE DEMO
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